
SHOWN WITH 3" RISER

WELD
BOTH SIDES

WELD
BOTH SIDES

WELD ALL
AROUND

WELD ALL
AROUND

WELD ALL
AROUND

WELD ALL
AROUND

WELD ALL
AROUND

WELD ALL
AROUND

WELD ALL
AROUND

WELD ALL
AROUND

18.000 / 19.500

48.594

36.500

31.0604.000 / 5.500

6.000

29.500

8.000

OVER VIEW

7

3

2

1

7

7

6

8

9

10 10

12

11

17

4 5

2324

22

13

27.500

10.500

12.000

18 19

20 21

 C
:\S

W
 D

ra
w

in
gs

\R
IV

E
TT

E
R

\ R
IV

E
TT

E
R

 A
S

S
Y

 - 
S

at
ur

da
y,

 A
pr

il 
16

, 2
00

5 
5:

22
:2

1 
P

M

REVISIONS
REV. DESCRIPTION DRAWN BY DATE CHECKED APPROVED

QTY DESCRIPTION MATERIAL REMARKS ITEM NO.

PARTS LIST

2 HEX NUT, 1/4 -20 GRADE 8 ALLOY STEEL 24
2 HEX BOLT, 1/4-20 X 1" GRADE 8 ALLOY STEEL 23
1 HEX JAM NUT, 3/8" ALLOY STEEL 22
12 FLAT WASHER, 1/4" GRADE 8 ALLOY STEEL 21
12 SOCKET HEAD CAP SCREW, 1/4 X 3/4" ALLOY STEEL 20
6 FLAT WASHER, 5/16" GRADE 8 ALLOY STEEL 19
6 HEX BOLT, 5/16-18 X 1/2" 18
1 FABRICATED HANDLE 3/4" SCHD 40 STEEL PIPE 17
1 MALE DIMPLING DIE AIRCRAFT TOOL SUPPLY 16
1 FEMALE DIMPLING DIE AIRCRAFT TOOL SUPPLY 15
1 ROUND BAR, 9/16 4140 PRECISION GROUND 14
1 ROUND BAR, 9/16 DIA. 4140 PRECISION GROUND 13
3 FLAT BAR, 1/4 X 3.5 MILD STEEL, 1020 12
3 FLAT BAR, 1/4 X 3.5 MILD STEEL, 1020 11
2 SQUARE TUBE, 2 X 2 X .125 MILD STL, 1020 10
1 FLAT BAR, 1/2 X 2 MILD STL, 1020 9
1 FLAT BAR, 3/8 X 3 MILD STL, 1020 8
3 FLAT BAR, 1/4 X 2 MILD STL, 1020 7
1 FLAT BAR, 1/4 X 2 MILD STL, 1020 6
1 RECTANGULAR TUBE 2 X 6 X .25 MILD STL, 1020 5
1 RECTANGULAR TUBE 2 X 6 X .25 MILD STL, 1020 4
1 RECTANGULAR TUBE 2 X 6 X .25 MILD STL, 1020 3
1 RECTANGULAR TUBE 2 X 6 X .25 MILD STL, 1020 2
1 IN LINE TOGGLE CLAMP DESTACO #630 1

 C
:\S

W
 D

ra
w

in
gs

\R
IV

E
TT

E
R

\ R
IV

E
TT

E
R

 A
S

S
Y

 - 
S

at
ur

da
y,

 A
pr

il 
16

, 2
00

5 
5:

22
:2

1 
P

M

REVISIONS
REV. DESCRIPTION DRAWN BY DATE CHECKED APPROVED

QTY DESCRIPTION MATERIAL REMARKS ITEM NO.

PARTS LIST

2 HEX NUT, 1/4 -20 GRADE 8 ALLOY STEEL 24
2 HEX BOLT, 1/4-20 X 1" GRADE 8 ALLOY STEEL 23
1 HEX JAM NUT, 3/8" ALLOY STEEL 22
12 FLAT WASHER, 1/4" GRADE 8 ALLOY STEEL 21
12 SOCKET HEAD CAP SCREW, 1/4 X 3/4" ALLOY STEEL 20
6 FLAT WASHER, 5/16" GRADE 8 ALLOY STEEL 19
6 HEX BOLT, 5/16-18 X 1/2" 18
1 FABRICATED HANDLE 3/4" SCHD 40 STEEL PIPE 17
1 MALE DIMPLING DIE AIRCRAFT TOOL SUPPLY 16
1 FEMALE DIMPLING DIE AIRCRAFT TOOL SUPPLY 15
1 ROUND BAR, 9/16 4140 PRECISION GROUND 14
1 ROUND BAR, 9/16 DIA. 4140 PRECISION GROUND 13
3 FLAT BAR, 1/4 X 3.5 MILD STEEL, 1020 12
3 FLAT BAR, 1/4 X 3.5 MILD STEEL, 1020 11
2 SQUARE TUBE, 2 X 2 X .125 MILD STL, 1020 10
1 FLAT BAR, 1/2 X 2 MILD STL, 1020 9
1 FLAT BAR, 3/8 X 3 MILD STL, 1020 8
3 FLAT BAR, 1/4 X 2 MILD STL, 1020 7
1 FLAT BAR, 1/4 X 2 MILD STL, 1020 6
1 RECTANGULAR TUBE 2 X 6 X .25 MILD STL, 1020 5
1 RECTANGULAR TUBE 2 X 6 X .25 MILD STL, 1020 4
1 RECTANGULAR TUBE 2 X 6 X .25 MILD STL, 1020 3
1 RECTANGULAR TUBE 2 X 6 X .25 MILD STL, 1020 2
1 IN LINE TOGGLE CLAMP DESTACO #630 1

PROJECT
WORK ORDER

CUSTOMER

RELEASED
CHECKED
PREPARED

DRAWING APPROVAL

DRAWING INFORMATION

27 FEB 2005 
 
 

 
 

P. STENABAUGH

--
--
 

SHEETREV

--RIV-001 SCALE SIZE

NOTED D

DIMPLING / RIVETTING FRAME
GENERAL OVERVIEW

Co
py

rig
ht 

by
 C

us
tom

 D
es

ign
 &

 F
ab

ric
ati

on
.

Th
is 

dr
aw

ing
 co

nta
ins

 in
for

ma
tio

n t
ha

t is
 pr

op
rie

tar
y t

o C
us

tom
 D

es
ign

 &
 F

ab
ar

ica
tio

n.
It m

ay
 no

t in
 fu

ll o
r a

ny
 po

rtio
n o

f it
 be

 re
pr

od
uc

ed
, c

op
ied

 or
 du

pli
ca

ted
 in

 an
y

ma
nn

er
 w

ith
ou

t th
e w

ritt
en

 co
ns

en
t o

f C
us

tom
 D

es
ign

 &
 F

ab
ar

ica
tio

n.

TOLERANCES:
ANGULAR

0.1 MAX.

DECIMALS
0.X   0.015
0.XX   0.010
0.XXX   0.003

REMOVE ALL BURRS
BREAK EDGES 0.005" MAX.

INTERPRET TO
ANSI Y14.5M

SURFACE 125

1 3OF

R
IV

-0
01

 
--

Sh
ee

t
1

of
3

Custom Design & Fabrication



34.000

BOTTOM TUBE 3

2.000

6.000

.250

36.000

TOP TUBE 2

2.000

6.000

.250

3.000

3.0" VERTICAL TUBE

4

2.000

6.000

.250

4.500

4.5" VERTICAL TUBE

5

2.000

.250

2.000

6.000

.375 45.0° X 

BLANK
END PLATE

6
2.000

6.000

.750

2.130

3.750

1.620

.375 45.0° X 

.193

5/16-18 UNC - 2B
 

6X  .257

TAPPED
END PLATE

7

3.500

7.000

.250 3.000 .250

3.500

6.750

6X  .266 THRU ALL
 .300 X 82°, Near Side
 .300 X 82°, Far Side

 

DRILLED
PLATE

11

7.000

3.500

.250 3.000 .250

3.500

6.750

1/4-28 UNF - 2B
 .275 X 82°, Near Side
 .275 X 82°, Far Side

 

6X  .213 THRU ALL

TAPPED
PLATE

12

SHEETREV

--RIV-001 SCALE SIZE

NOTED D

DIMPLING / RIVETTING FRAME
GENERAL OVERVIEW

Co
py

rig
ht 

by
 C

us
tom

 D
es

ign
 &

 F
ab

ric
ati

on
.

Th
is 

dr
aw

ing
 co

nta
ins

 in
for

ma
tio

n t
ha

t is
 pr

op
rie

tar
y t

o C
us

tom
 D

es
ign

 &
 F

ab
ar

ica
tio

n.
It m

ay
 no

t in
 fu

ll o
r a

ny
 po

rtio
n o

f it
 be

 re
pr

od
uc

ed
, c

op
ied

 or
 du

pli
ca

ted
 in

 an
y

ma
nn

er
 w

ith
ou

t th
e w

ritt
en

 co
ns

en
t o

f C
us

tom
 D

es
ign

 &
 F

ab
ar

ica
tio

n.

2 3OF

R
IV

-0
01

 
--

Sh
ee

t
2

of
3

Custom Design & Fabrication



45° TYP

LEG
SCALE 1/2

ANVIL GUSSET
SCALE 1/1

ANVIL
SCALE 1/1

2.000

2.000
.125

12.000
.750 .750

1.000

.313 THRU
2 HOLES

10

3.000

4.000

.375

.375

8

2.000

.461

3.060
.250

.500

.250

53°

R.313

.1875

9

 .1875 13

.625

.875

2.125

1.250
(REF)

.563

THREAD 3/8-16
2.375

3.625

.625
1.250
(REF)

.563

LONG ADAPTER
SCALE 2/1

SHORT ADAPTER
SCALE 2/1

THREAD 3/8-16

 .1875

14

HANDLE
SCALE 1/2

17

.313 (TO FIT CLAMP)

.250  TYP

3/4" SCHD 40 PIPE
WELD FLAT BAR
TO PIPE

3.500

60.0°

11.339

1.500

7.839 (REF)

1.000

.250

.500

SUITABLE KNOBD

HOLES AS REQUIRED
TO FIT CLAMP HANDLE

SHEETREV

--RIV-001 SCALE SIZE

NOTED D

DIMPLING / RIVETTING FRAME
GENERAL OVERVIEW

Co
py

rig
ht 

by
 C

us
tom

 D
es

ign
 &

 F
ab

ric
ati

on
.

Th
is 

dr
aw

ing
 co

nta
ins

 in
for

ma
tio

n t
ha

t is
 pr

op
rie

tar
y t

o C
us

tom
 D

es
ign

 &
 F

ab
ar

ica
tio

n.
It m

ay
 no

t in
 fu

ll o
r a

ny
 po

rtio
n o

f it
 be

 re
pr

od
uc

ed
, c

op
ied

 or
 du

pli
ca

ted
 in

 an
y

ma
nn

er
 w

ith
ou

t th
e w

ritt
en

 co
ns

en
t o

f C
us

tom
 D

es
ign

 &
 F

ab
ar

ica
tio

n.

2 3OF

R
IV

-0
01

 
--

Sh
ee

t
3

of
3

Custom Design & Fabrication


